1T BoE

ZHE

INEERTHATENERR 3 - 3 - 8 HITHRATRIR

1. R OBE mamim

OFf # £ /I\F3-3- 82 FIRM (5 ERILEBTESHER)

O & #93km
Ofg  &:28m(1R#)

OMAER] ZAMmHENS

EEEEETOERNT Skn

T

3. BiROEDT
(EEF4AR]
OZEMIICH (T HE T AT ERE IR OB (H A &t
(B=RBFEEFE) (HI184)IZHT
SRI0OFRCEAMICEEFTE
MBS B R AR ICRIE DT
OZE)—T«5702xok(H19.1)
ZEE AHEBREICE AT

[hER](EE)
OMETHHEETRI—T T2 (H19.3)
TEREE O E
(B%&) [ F3 - 2 - 8 EVERIE (1 A—2) |
36m
10m , 16m , 10m

HiaHE

et pa

st kg o
(alli - HEHS W )

(dill - Kl )

:]\E|‘7-£"3-- e
o EEERUERER

8
r EigdE
JER #91. 5km

I
B EERY ~ 5 A HEE
YEE 2. 5km

B8 36m (i)

= RBECTEE AR MBS
TERIGEE 7EAFHE RIS
TRRI8ERE #HhstELEE
TRRIVEE BEEFTE
ER2TEE HEATFTE




